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def fibl (k)

f=1

pl=1

for i in 2. .k
p2 = pl #£ib (1-2)
pl = £ #£fib(1i-1)
f = pl + p2 #£fib (1)

end

f #£ib (k)

end
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o XFEFRIMS. bench.rb & fib.rb Z2 HO—k,

irb(main):004:0> load("./bench.rb")
irb(main):005:0> load ("./fib.rb”)

irb(main):009:0> for k in 10..38
irb(main):010:1> run("fibr", k)
irb(main):011:1> run("fibl", k)
irb(main):012:1> end
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e command("set logscale y") — 777D Y Wiz XHAr—IVICd
éo y % X LL—d—% C‘_). X $H]7b\5d"5l&x}7——][/ 73:%0

e command("unset logscale") — XEAT—)L 72005

e command("set xrange [a:b]") — X HHDHHZ o "D b X TICT
%, xrange 2 yrange IC9 4 & Y BiOHIHZZHE T 5,

e command("set autoscale") — Z/nfupPHZ HENNICEEH T 3,

ERRICE "oRllE. T T7DOERRICHNTWS GNUPLOT W5V 7
R 27T 5P TH 5. MOmHICDONTIE GNUPLOT O =27

Kﬂ/@&%ﬁ%kbf LW, /

irb(main):026:0> command("set logscale y")
irb(main):027:0> for k in 10..38

irb(main):028:1> run("fibr", k)

irb(main):029:1> end
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def fivlét)  REHIDANDETE

pl=1
for i in 2..k
p2 = pl
pl = £
f = (pl + p2) % 1000000
end
f
end

irb(main):030:0> reset()

irb(main):031:0> command("unset logscale")
irb(main):032:0> for min 1..10
irb(main):033:1> run("fibl6", 2000000*m)
irb(main):034:1> end
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S0y

e fibr & fibl
for kin 10..38

* Fibl6
run("fibl6", 2000000*m)
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def simplesort(a)
for i in 0.. (a.length()-1)

k = min index(a, i)

v = alk] :s®4 15|92
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def merge (a,b) ‘

c = Array.new(a.length() + b.length()) — &L= F
Sra L
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end
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2D0DIDHE

def merge (a,b) ‘
c = Array.new(a.length() + b.length()) — A 4 |
<m0 HEL=ES
?bzg }a.b,cd)rﬁﬁﬁﬁjiﬁ—?ﬁ%
ic=
while ia < a.length() && ib < b.length(() A
if a[ia] < b[ib] then
cl[ic] = a[ia]
ia = ia + 1
else a,bd®
c[ic] = b[ib] FCEEDD
ib=1ib + 1 INSLNVEH
end cIZEEZEFT

ic = ic + 1
end )
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end
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def mergesort(a)
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a=1[21
b = [4,3]

simplesort(a)

mergesort(b)
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load("./randoms.rb ") # randoms (id,size,max)
load"./bench.rb") # run(function name, x, v)
load("./simplesort.rb") # simplesort (a)
load("./mergesort.rb") # mergesort (a)

def compare sort(max, step)
for i in 1.. (max/step)
x=i*step
a=randoms (i,x,1)
run ("simplesort", x, a)
a=randoms (1,x,1)
run ("mergesort", x, a)
end

end
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<T=2Ly, 42




